Numbers and Operations level 1(c)

1) Complete this 4) Evaluate 7)a) 45+9=
multiplication table a) 8x 1000 + 5x 100 L7
g b) 70+7=
c) 54+6 =
X
5141|198 |7 d) 205 =
9 b) 3x10 + 5x 1000
+7 + 2x100
2 8)a) 19-13 =
12 b) 21-7 =

c) 4x 1000 + 8

+7x10 + 2x100 | ©) 956-40 =

d) 80-23 =

9)a) (6+3)x3 =
2) State the value of the b) (5-2)x5 =
underlined digit.

5) Plot these points on the| ©) 23-2X5 =
a) 2973 number line. d 7+6x5 =
8 1.4 e) 6x8+1 =
f) 6 X (8 + 1) =
b) 2679625 P T ¢ 3456 g) (7+5)x(8+2)
by 3,1,0 h) 20+ (2x2) =
) 20+-2x2 =
0 1 2 3 4 5 . 3
3) Arrange these — . ) 4+7x2 =
numbers in ascending
order.
a)4,76,283,95,198 6)a) 28+ 20 =
b) 22+ 7 =
15+ 11 =
b) 42 , 1635, 58, 35 ) 15
d 26+118=
e) 35+72 =
fy 45+9 = 10) Convert 83 to

Roman numerals.




